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hEH SRR
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AL TME TR RKEKRE

% L] Hs - BIRHE AL g i = # wm =
EZAEE 3,010, 850
HEE 3,010,850 x 75.2% — 5,009 2,259, 150
HEEEE 3,010,850 + 2,259,150 5,270, 000
BB R 5,270, 000
HERSHELE 5,270,000 x 10.00% 527, 000
HEXBE 5,270,000 + 527,000 5,797, 000




BEARRE L TR 3 T A B K %381

£ g i - KSR B H =2 R & #8 wm =
EZHEE 3,010, 850
BEFEHE 3,010, 850
BEFEHE 3,010, 850
TILFE—LBIR 2,906, 850
RIS XElE 424, 357
1 B % R 1.00 345,016 345,016
=
2 BMER QEELZY) 1.00 79, 341 79, 341
=
TILFE—LHIE 1,244, 255
3 BEARMHRERE -BE 1.00 457,732 457,732
=
4 B SRR 1.00 11, 553 11,553
=]
b AR EHER 1.00 11,978 11,978
=]
6 BHRFREH 4.00 4,750 19, 000
=]
TRBETXH 1.00 665, 125 665, 125
=
8 TILFE—LAIF 0.04 1,971, 690 78, 867
km2
BERE 158, 406
9 EEHAI 1.00 11, 498 11,498
£
10 F#ElE 1.47 51,397 75, 553
km
1 FRASEHERE EEHREEKL 15.00 4,757 71, 355
cm




BEANRE

AL TME TR RKEKRE

% R R& - MAKSTE BfL 2 fif ® #8 m o=

[EES 1,079, 832

12 SESER 1.00 1,079, 832 1,079, 832
=

EEEE 104, 000

B2 59, 000

13 £BHER 1.00 59, 000 59, 000
=

Z 0t 45,000

14 ETRERAE 1.00 45, 000 45,000
=




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

&5 1
2 BEEERE =1
£ 7 R - BARTiE BAGL #H = B O{f | W E B &
BlEFEHED
A 2.00 54, 600. 00 109, 200
B S HER
A 3.00 47,100. 00 141, 300
B = H AR
A 2.00 36, 900. 00 73, 800
BIEBF
A 0.50 34, 600. 00 17, 300
AR =LY
% 1.00 341, 600. 00 3,416
= 5 1E%HeH - 1.00K 345, 016. 00 345,016
&5 :2
B BMERR QEESY) =1
£ 7 R - BIRTiE BAGL #H = B Of | W E B &
BIEHEE
A 2.00 25,900. 00 51,800
cSwy 2tiE
B 1.00 26, 756. 00 26,756/4. 70H / 8H
AR =LY
% 1.00 78, 556. 00 785
= 5 1E%HeH - 1.00K 79, 341.00 79, 341




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

%5 :3
& ¥ BRRERNE - HE
% 5 R - AR R BAf H 2 B {f £ W = i %
REE S4 kY 2L
B 2.00 3,532.00 7,064 2.00H / 8H
B FRP D 70PSZE!
B 2.00 74, 168. 00 148, 336 8H
B S HER
A 2.00 47,100. 00 94, 200
BB
A 2.00 36, 900. 00 73, 800
ARBHF
A 2.00 34, 600. 00 69, 200
BIEWEE
A 2.00 25,900. 00 51,800
B PR 2EDY
% 3.00 444, 400. 00 13, 332
= 5 1E%HeH - 1.00K 457,732. 00 457,732
&5 4
& ¥ BSRRRE
% 5 R - AR R BAf H 2 B {f £ W = w %
REE S4 kY 2L
B 0.30 3,532.00 1,059 2. 00H / 8H
BIEBNF
A 0.30 34, 600. 00 10, 380
B PR 2EDY
% 1.00 11, 439. 00 114
= 5 1E%HEH - 1.008 11, 553. 00 11, 553




REAR-ET/vr—> LTS TR KSR

&5 :5
2% SRR ENEE 108%4Y
£ 7 R - BARTiE BAGL #H = B O{f € W E B &
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
AR =LY
% 1.00 118, 600. 00 1,186
= 5 1YE%HEH - 10.008 11, 978. 00 119, 786
&S :6
2% : SamERas EED)
£ 7 R - BIRTiE BAGL #H = B Of € W E B &
[CEL e
B 1.00 4, 750. 00 4, 750
= it 1E%HEH - 1.008 4, 750. 00 4, 750




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

&5 .17
B BBETR b 1RXHY
% 5 R - AR R BAf = B {f £ W = &
REE S4 kY 2L
B 1.00 3,532.00 3,532/2.00H / 8H
B2 F T HED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.50 47,100. 00 70, 650
BB
A 1.50 36, 900. 00 55, 350
BIEBNF
A 1.00 34, 600. 00 34, 600
BIE M FRP D 70PSZE!
B 1.00 74, 168. 00 74,168 8H
GNSS;BIf 2 & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
e 2EDY
% 1.00 658, 540. 00 6, 585
= 5 1E%HeH - 1.00K 665, 125. 00 665, 125




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

%5 :8
B TILTFE—LALE 1BH%Y (0.31Tkm2)
£ 7 R - BARTiE BAGL 2 B O{f | W E B &
REE S4 kY 2L
B 1.00 3,532.00 3,532/2.00H / 8H
B FRP D 70PSZE!
B 1.00 74, 168. 00 74,168 8H
BIEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIf 2 & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERE 36~455kHz
B 1.00 339, 900. 00 339, 900
AR L NOY
% 2.00 599, 240. 00 11, 984
= 5 EEREN :0.31km2 1,971, 690. 00 611,224
&5 :9
£ 7 R - BIRTiE BAGL 2 B Of | W E B &
REE S4 kY 2L
B 1.00 3,532.00 3,532/2.00H / 8H
AEM FRP D 70PSE!
B 1.00 74, 168. 00 74,168 8H
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
AR =LY
% 1.00 216, 300. 00 2,163
= 5 YEZRES - 19.004h = 11, 498. 00 218, 463




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

H5:10
2 RIRAE 1B&HY (2.4km)
2 Lo R - BAKTiE By = B ff | W E i %
REBE 54 kY 2
A 1.00 3,532.00 3,532 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
SR 2RD%
% 1.00 122, 132. 00 1,221
& B 1E%HBEN : 2.40km 51, 397.00 123, 353
&H#5: 1
2% FIRAEEHEE BEHERL M0ecmzy
2 Lo R - KT By = B ff | W E w %
B S HER
A 1.00 47,100. 00 47,100
MM 2RD%
% 1.00 47,100. 00 471
& B 1E%HESN - 10.00cm 4,757.00 47,511
H5 :12
B |MESER 1Ky
2 Lo R - KT By = B ff | W E w %
BlEFEHED
A 4.00 54, 600. 00 218, 400
B S HER
A 10. 20 47,100. 00 480, 420
B = H AR
A 9.20 36, 900. 00 339, 480
MM 2RD%
% 4.00 1,038, 300. 00 41,532
& B EZBER - 1.00 1,079, 832. 00 1,079, 832




Rifiz -/ \v7r—o

FEIL TS TR RKERAIE

H5 13
2 EBHRSR 1Ky
2 Lo R - BAKTiE By = B ff | 1 B &
(BHERE
= 1.00 59, 000. 00 59, 000
& B 1EZBER - 1.00 59, 000. 00 59, 000
5:14
2% MIERRAE 1X&Y
2 Lo R - KT By = B ff | # B &
E-HYUTRE BIEEH
= 1.00 45, 000. 00 45, 000
& B 1EZBER - 1.00 45, 000. 00 45, 000




